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PART-I GENERALAWARENESS / KNOWLEDGE

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta
(C) Hyderabad (D) Mumbai
2. The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun
3. The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953
4. Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
5. Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
6.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(O) Kiran Jiju
(D) Marry Kom
7. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
8.  The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
ELECTRICIAN-
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BIoW SOlEAR F 3T 3 fhdbe <k Ha
U ENG—HE WR Wl | Frafeiiad § & waf

I+ 39T JffoH e {9 Wolr?
(A) faeet (B) Tl
(OELEREI (D) g=g

IRAI UIIRIEY HISSYA &1 & Hel
Rera 87

(A) DI (B) <fifef

(C) 71¢ feeelt (D) &I
CIRTA AT BT RATIAT He gAY 2f1?
(A) 1962 (B) 1948

(C) 1920 (D) 1953

TR fae ford ST Smar 27
(A) HIYoT GERRAT &=

(B) el T[Ia

(C) 3ifaT gfte aretr &3

(D) THZaR a1 ufadr & ford

I BT BT §H I fdbail afe § ugedr 27
A) 2 e (B) 4 e
(C) 8 e (D) 16 VDTS

fFrafeiRed § | A-TQR &1 acH= 3 S
27

(A) == Rig rad

(B) g0 IR+ g

(OREIGRNET

(D) HY B

I g W R T aMded & ATAR
I 3T & STFA H fforRad 7 4 faa!
AUET T2l Pl SICl?
(A) fa=mar

(C) deH

(B) i3 ama
(D) fdaRa a9

‘JThTAdRa’ BT fraior fhaa wrram oar?

(A) T® T

(B) T THTIRIGY
(€) T ewiifda

(D) T& T
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9. Who was the regent of Akbar in his early days ? 9. URM® BT A ABaR BT RIUSHATAR DI aT?
(A) Abul Fazl (B) Bairam Khan INEEGR K] (B) SR¥ET
(C) Mansingh (D) Todarmal (C) °r1RE (D) TrexHA
10. Vikram Sarabhai Space Centre (VSSC)is located  10. fasha IRMIS 3fARel o= Pal Rerd 87
at: (A) fooadgzA (B) g@s‘
(A) Thiruvanthapuram (B) Mumbai (C) BexTaTe 1) IERKE
(C) Hyderabad (D) Bengaluru
PART-1 ELEMENTARY MATHEMATICS
11. Find the HCF of 54,288,360 : 11. 54,288,360 1 He<H WHYCD I DITSTU?
(A) 18 (B) 36 (A) 18 B) 36
(C) 54 (D) 108 (C) 54 (D) 108
12. What will be the LCM of 8, 24, 36 and 54 : 12, 8,24,36 3R 54 BT TETH FHIIAID ST BITSI?
(A) 54 (B) 108 (A) 54 (B) 108
(©) 216 (D) 432 (C) 216 (D) 432
13. Find the simple interest on Rs. 5200 for2 yearsat ~ 13. 5200 ®U &I &R WR 6 Gfcrerd arfies bl &R
the rate of 6% per annum : A QT a9l BT AR AT fha=r g?
(A) Rs. 450 (B) Rs. 524 (A) 450 ST (B) 524 ®5uy
(C) Rs. 600 (D) Rs. 624 (C) 600 T (D) 624 wUY
14. Rs.1200is lent outat 5% perannum simple interest 14, 1200 ®UJ &1 IR 5 Gferd ARIRT a1
for 3 years. Find out what would be the amount after TS BT & | 9 991 916 fdhal & SIai?
3 years ? (A) 1380 TUY (B) 1290 ®uy
(A) Rs. 1380 (B) Rs. 1290 (C) 1470 ®9Y (D) 1200 U
(C) Rs. 1470 (D) Rs. 1200
15. Rs.2100is lent out at compound interest of 5% per 15 2100 wud FT &=RIFA 5 Ufererd @1 affew ahafy
annum for 2 years. Find out what would be the ol g8 9 e 9Y 91e fha+l & Sa?
amount after two years: (A) 2300 TR (B) 2315.25 TR
(C)Rs. 2310 (D) Rs. 2320
16. If& CANDLE &I {5l e (@1s) § EYPBNC
16. IfCANDLE is written as EYPBNC, in certain code forad £ a1 FLAMES @7 39 e 3§ @1 foreny?
then in that code FLAMES will be written as : (A) DIYKCQ B) HN(?OGU
(A) DJYKCQ (B) HNCOGU (C) HICKGQ (D) KCHJUA
(C) HICKGQ (D) KCHJUA
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17. Choose the correct option in the place of question
mark (?):
> T4 T
18 ? 30
162 [ 196 | 150
1458 [ 1372 | 750
(A) 16 (B) 28
(C)49 (D) 54
18. Inapicture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old
man related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
19. Choose correct option in the place of question
mark (?):
? 10 40
7 12 50
9 | 14 | 60
(A)3 B)5
©)8 (D) 4
20. Evaluation of 8 x 82x 8~ is:
(A1 B)0
©) 8 (D) None of these
21. Find odd oneout:
(A) Excel (B) Mouse
(C) Desktop (D) Key
22. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
23. With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting
ELECTRICIAN-

17.

18.

19.

20.

21.

22.

yefas &l Sfd fAeed | =1 FIH -

2 4 6
18 ? 30
162 | 196 | 150
1458 [ 1372 | 750

(B) 28
(D) 54

(A) 16
(C) 49

IR R T Th o &l fe@rax M 7 9arn
% 59 gg aafth & 43 R GF &7 9rer 2 |']H
F Jg | T |qaY T

(A) o (B) wfdar

(C) wIg (D) =men

U3 (?) D H R 3 fdwed &1 99+
P

? 10 40

7 12 50

9 14 60
(A)3 B) 5
©38 (D) 4

83X 82X 85PT Bl B :
A) 1
€8

B) 0
(D) SIRRH H PIg Aol

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

SR Bl ST DI
INRERE (B) #1349
(C) SThe™ (D) B
) T Apcat & G B T P -
(A) AR (B) e
(C) TRI EIEN
23. Q=g TN BT ey 9 W ¥ 77
(A) ZravST (B) BedTe
(©) frae (D) gfe
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Direction : In which answer figure specified Aa=T : I ) SR MBI H TR AP B fawre

components of key figure are found ?

24. KeyFigure: 24.

Answer Figure :

A A
A

Direction : In Q. No. 25 and 26 arelated pair of words is TR : YT W0 25 —26 H ‘\’@

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

25. ENQUIRE:ASK:: 25.
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

26. FERRY:BOAT:: 26.
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

ac faemme 87

AT P

ENQUIRE :ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 27-30) Choose the correct altenative TR el : g9 W0 27 —30 & T fAawedi # H2l fadwed

given to replace the Question mark (?) :

27. NUMERAL: UEALRMN : : ALGEBRA: ? 27.
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

28. BDAC :FHEG::NPMO:? 28.
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

29. FGID:OPQR ::BCDE:? 29.
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

30. PNLJ:IGLC ::VTRP:? 30.
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM

ELECTRICIAN-
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BT I PIT ST U9 g & IH o 99 -

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC : FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR ::BCDE :?

(A) KLMJ (B) KLMN
(C) IuVM (D) STUM
PNLJ:IGLC ::VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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PART-I HINDI

R t0 31 % 32 : FreARRad it # R o 39 O ST W ST & S9S foT v wred

¥ 3R 2 o9 kg PR PIT—HT &7 _
31. (A) R (B) ST
(A) TP BT A (C) garTs (D) R
(B) fsa &1 74 _
(C) & &R el 40. ;ﬁqé@ﬁgﬁwwﬁtﬁmwm
- —4T ®
(D) e e T (A) 3THYD (B) AHIES
32 (C) orarerefi (D) UReAlfbd
(A) Foor! | R
B) 3@ ¥
(C) =nify forerch 2
(D) 1g Ffe e
33. WS @ fam v &
(A) g (B) BI3T
(C) 3t (D) BT
34, AN BT AW Tew
(A) AT (B) 3R
(C) uR¥rg (D) FFIE
35. ‘39 BT gAMGAT UG T8 ©
(A) 3rauq (B) 3T
©) (D) vt
36. ‘®H BT GIIATEl e &l B
(GVRERS (B)??’_\R"q
(C) STer (D) as

37. BT B HA 3t 7
(A) %ETd & HHE  (B) FEol UK a%]
(C) 3T T a7 (D) WA &l I

38. AR B IR BT 7 ®:
(A) 9Rh—Ta=T | <1 g8 Wc
(B) T &1
(C) SIST ATSTT BRI

(D) 31997 AT

ELECTRICIAN-( SET-A
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




PART-1 ENGLISH

Direction (31-32) : From the given alternatives in each

31.

32.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (33-34) : In each of the following questions, a

33.

34.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) Ibrush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Icanonly

(D) No improvement

Directions (35 -36) : In each of the following questions,

35.

ELECTRICIAN-

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

36.

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (37-38) : In the following questions, some parts

37.

38.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) Thevoting

(D) No error

Directions (39-40) : In each of the following questions,

39.

40.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... oflizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

SET-A
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41.

42.

43.

44,

45.

46.

47.

48.

ELECTRICIAN-

PART-II ELECTRICIAN

When more than one equipment is to be earthed :
(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)

(D) None of the above

Fuse is always connected :

(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)

(D) None of'the above

The material used for fuse must have :

(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

The Right hand rule for determining the direction
of'induced emfenunciated by :

(A) Faraday (B) Loz

(C) Fleming (D) Maxwell

From economy point of view, mostly the wiring
employed in residential building is :

(A) Cleat wiring

(B) Casing-capping wiring

(C) C.T.S. wiring

(D) Conduit wiring

How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

The wattmeter :

(A) Has three connections two of which are used at
atime

(B) Can measure dc power output but not 60 c/s.
a.c power

(C) Has voltage and current coils to measure the
real power

(D) Only measure apparent power

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

41.

42.

43.

44,

45.

46.

47.

48.

9 U ¥ 3T SUBRYT faegra gRuer & ged
SRSISER

(A) ReR IMIAR HdY STANT &R A1y

(B) Rer ool Hdy SuART =1 ARy

(©) (A) I1 (B)

(D) =78 | BIg el

TS EHYT Sl ©
(A) 39 ool § S aRuer gRfgra I&ar &
(B) FHMIGR # ST8f ufRuer YRiEa e 2
(C) (A) a1 (B) <TFi
(D) 374 ¥ Bl el

S ARl WS @ forg SuART B @ S ¢
(A) BH TToId 3R & UfdTd gfoRre

(B) B TaId 3R 1frd Srufdieds ufaRrer
(C) 31 Tei e 3R & fdTd Ui
(D) BH D Uferd TR & AT

FREDII JATE DI P18 ©

(A) FeT (B) TR =
(C) el (D) IR

URT emf T 39T =ad &= ¥ <10 81 99 &1
frafRor e 2
(A) BRFS

(C) FeIfHT

(B) oISt
(D) HaadeT

e gfte | exe AT H ARTHIR TN T8
ST &

(A) Tefle aR

(B) JMMaRYT HIUT AR

(C) ¥ & 79 dR

IDEIFECIESININ

R A fead sRia Bl &
(A) T® (B) a1
(C) <= (D) TR

dfeHrex

(A) dfcHier & F WeY 8, TP aAg | a
SYANT B &

(B) faSTell ScTed &I ATgar 8, T &7 60 cfs
IR Bl Bl B

(C) Ao 3R e drell IR arfdd fad
A9 & ol Bl ©

(D) BaeT UedeT Ifad ATO ®
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49.

50.

51.

52.

53.

54.

ELECTRICIAN-

The dynamometer wattmeter can be used to ~ 49.

measure :
(A) a.c power
(B) d. c power
(C)a.cordg power

(D) a.c power in only circuits
The controlling torque in an indicating instrument : 50.
(A) Brings the pointer back to the zero position
when instrument is disconnected
(B) Controls the diflection and tries to stop the
pointer at its final position where diflecting
torque is equal to controlling torque
(C) Reduces the oscillations of pointer and quickly
brings the pointer to its final position
(D) Both (A) and (B)

The two laws that forms the basis of circuit 51.

analysis were enunciated by :
(A) Faraday (B) Ohm
(C) Bohr (D) Kirchoff

Maximum speed of a synchronous machine for 50
H :

(A) 1500 r.p.m.
(C) 20000 r.p.m.

(B) 3000 r.p.m.
(D) 3000 r.p.m.
When a conductor is moved inside a uniform 53.
magnetic field :
(A) It experiences a force
(B) Anemfisinduced
(C) A current flows through it
(D) A flux is produced
The rotor of squirrel cage induction motor is 54.
skewed because :
(A) It reduces humming thus ensures quite running
(B) It results in a smoother torque curves
(C) It reduces the magnetic locking of stator and
rotor
(D) All of above

Latest Sarkari Jobs, Govt Exam Results,
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STgAIexY gredie} J19+ & folu SuaT &
qHd &

(A) T, UTaR

(B) SI¥T UreR

(C) T, 3R I R

(D) T UTeR ®ad 1-¢ Afdbe H

Jad IF H T g ®:

(A) 519 I3 PT e gl Qa1 1 & a1 gad
o Rerfy # o irar &

(B) faergor frsior Swan sife Rerfa o= fior
FRAT & 3R FAD 8 B DI DI Hal
g STel Yl 941 & frase | faerfia smepet
I I_TSR BT

(C) @®H BT Gl BH AR TSl Bl © 3R
gad P Sifc Rerfy # omar &

(D) (A) 3R (B) Il

I uRuY & SR &1 faveived aad o’
# o | 99 @
(B) 3MTg#

(A) BRIS
(C) TR (D) fo=dim

AfTHTH =Tl U RFPRAT 799 & ol
50H Wg:

(A) 1500 IR ULTH.  (B) 3000 31R.Y1.TH.
(C) 20000 IMRYIL.GA. (D) 3000 3TR.Y1.TH.

T4 P TS FHAM GADHIT &F H ST § ar
(A) T BT AFHT BT 2

(B) URd BT ©

(C) foga awr & 2

(D) fa=[q yaTe I Bl &

WhA—E Hol Yol IRV HeR faReT BT ©

FANP

(A) TTIATES BT HH HAT © Al T A
ESENED

(B) 98 IRV AT & T Fwaol ool Als W

(C) 98 WX & FIDHII TTT AR AT BT HH
HRAT ©
(D) faw T =T
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55.

56.

57.

58.

59.

60.

61. Atransformer with output of 250 KVAat3000V,  61.
has 600 turns on its primary side and 60 tums on
the secondary winding. What will be the voltage at
primary side :
(A)300V (B) 30000 V
©)30V D)3x10°V
ELECTRICIAN-

The alternating current system was put into
practical usein :
(A) 1820
(C) 1866

(B) 1880
(D) 1896

A direct current of 1 ampere flowing througha  56.

resistance an alternating circiut current flows through
the resistance, of heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

The root mean square value of an alternating 57.

quantity is another name for its :
(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

The form factor of alternating quanity is given by : 58.

(A) Average value/RMS value

(B) Average value/Maximum value
(C) RMS/value/Average value

(D) RMS value/Maximum value

Blinking of fluorescent tube may be due to : 59.

(A) Low circuit voltage
(B) Low ballast rating
(C) Low temperature
(D) Any of the above

The safety fuse should have : 60.

(A) High resistance and high melting point
(B) High resistance and low melting point
(C) Low resistance and high melting point
(D) Low resistance and low melting point
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62.

63.

64.

65.

66.

67.

68.

ELECTRICIAN-

An ordinary tube light used for lighting purpose 62.

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury
vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and
mercury vapour

The eddy current losses in the transformer occurs ~ 63.

inthe:
(A) Primarywinding  (B) Core
(C) Secondary winding (D) None of these

The condition for maximum efficiency of the  64.

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the
iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

Copper as conductor for cables is used as : 65.

(A) Hard dram

(B) Annealed

(C) Hardened & tempered
(D) Alloy with chromium

The segments of the commutator of a D.C machine ~ 66.

are insulated from each other by :
(A) Rubber (B) Porcelain
(C) Mica (D) Varnish

Which of the following motor has high starting ~ 67.

torque:
(A) d.c. shuntmotor  (B) d.c. series motor
(C) Both (A)and (B) (D) None ofthe above

The number of parallel paths in wave wound  68.

armature are :

(A) Equal to the number of poles of the machine
(B) Equal to two, irrespective of the number of poles
(C) Equal to number of communtator segments
(D) Equal to number of armature conductors
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69.

70.

71.

72.

73.

74.

ELECTRICIAN-

Which of the following motor is used to drive. The
constant speed line shafting, lathes, blowers and
fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None of the above

In a D.C. machine iron losses occur in :
(A) The yoke (B) The pole shoe
(C) The armature (D) Thefield

In a balanced 3-phase, star connected system, the
relation between phase voltage (Vph) and line
voltage (V))is:

A) V,, =3V,
(B) V,=0.577 V,

VL

Vo, =—=
(C) Vpn NG
(D) None of the above

A 3-Phase load is said to be balanced load, if all
the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of'the above

In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite
readings

The stability of arc in vaccume depends upon the :
(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)
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69.

70.

71.

72.

73.

74.
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75.

76.

T7.

78.

79.

80.

ELECTRICIAN-

The order of the lightning discharge current is :
(A) 10000 amp (B) 100 amp
(C) lamp (D) 1 micro amp

75.

Phosphor bronze alloy is used for springs in
indicating instruments because the alloy has :
(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion

76.

Rotor resistance starters are used with wound
rotor induction motor. When the motor is running
the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

77.

While finding solution of AC circuit, vector
quantities are added or subtracted. One of the
method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

78.

Before varnishing a newly wound motor, the

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that
temperature while working

(C) To drive out the moisture in between the wires
and layers

(D) To remove air in between wires and layers for
easy flow of varnish

79.

On inspection, the commutator of a DC generator
was found badly worn out. Sand papering is of no
use. The best thingtodoisto:

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

80.
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81.

82.

83.

&4.

85.

86.

ELECTRICIAN-

AC changes in value and direction periodically. This ~ 81.
tends to make the current flow along the outer
surface of the conductor. This phenomenon is know
as:
(A) Maxwell’s effect
(B) Eddy current effect
(C) Hystereris effect
(D) Skin effect
You have to change the defective motor of an  82.
electric locomotive. Which type of motor would you
choose?
(A) DC shunt motor
(B) Separately excited motor
(C) DC differential compound motor
(D) DC series motor
Which one of the following is not applicable to ~ 83.
capacitor type table fan motor ?
(A) Auxiliary winding
(B) Shadingring
(C) Main winding
(D) Condenser
One of the reason for charging penalty for drawing ~ 84.
power at low PF is :
(A) Line voltage and frequency drops
(B) Current drawn from mains will be higher
(C) Power drawn by the consumer will be less
than the senctioned power
(D) Energy meter will run slow indicating lower
power consumption

The maximum value of sine wave AC voltage is 85.
10V. What is the rms value :

(A)1.732V (B) 7.070 V
(©)3.142V (D) 1.414V
Breather-DC-hydrating material used inside to 86.
prevent moisture entering the transformer is :

(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel
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87.

88.

89.

90.

91.

ELECTRICIAN-

Instruments which must not be used in the circuit ~ 87.
when the poweris on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter

The motors used for electric clocks and timing

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous
motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous
motor

Potential transformers are used to connect :
(A) Voltmeters to the primary of transformer
(B) Intruments to bus bar of distribution panel
(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

A 10-Volt coil has aresistance of 25Q . The coil ~ 90.
was re-wound with 0.224 mm dia wire which has

0.45 Q per meter. The length of wire used is S0m.

What is the change in resistance of re-wound coil?
(A)6.5 Q B)4.5 Q

(€)2.5Q (D) 9.5 Q

91.

On a overhauling operation it was found that the
motor is equiped with ‘sealed’ bearings. The
bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of one year
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92.

93.

94.

95.

96.

97.

98.

99.

ELECTRICIAN-

You are testing a power capacitor using Ohm meter.
The capacitor is in good condition only when the
pointer moves to :

(A) Zero and then slowly to infinity position

(B) Infinity position and remain there

(C) Zero position and remain there

(D) Infinity position and then to zero position

Sweep of ceilling fan refers to :

(A) Double the distance from center of motor to tip
ofblade

(B) The distance from centre of motor to tip of blade

(C) Double the length of blade

(D) Radius of circle formed by its rotation

The resistance of a conductor of diameter ‘d” and
length ¢ ¢’ is ‘R’ Ohms. If the diameter of the
conductor is halved and its length is doubled, the
resistance of the conductor is :

(A) R Ohms (B) 2R Ohms

(C) 4R Ohms (D) 8 R Ohms

The resistivity of the conductor depends on the :
(A) Area of conductor

(B) Length of the conductor

(C) Type of material

(D) None of these

The current flowing in a series circuit having four
equal resistors is [ amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?

(A) 0.251
(C) 4l

B) I
(D) 81

A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F
(C)1.5uF

(B) 1.5F
(D) None of these

To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium

(C) High (D) That of air

One Farad isequal to :
A)1Q
(©) 1C/vV

B) 1V/C
(D) None of these
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97.

98.
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100. The unit of resistivity s : 100. URIEIHAT BT AHS © -

(A) Q (B) Q/m (A) O (B) Q/m
(C) Q/m (D) Q-m (C) Q (D) Q-m
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PART-I GENERALAWARENESS / KNOWLEDGE

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
2. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
3.  Light fromthe Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
4. Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
5. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
6. The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
7. Who was the regent of Akbar in his early days ?
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
8.  Vikram Sarabhai Space Centre (VSSC) is located
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
ELECTRICIAN-
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1.

IR T BT RATIAT He gAY 2f1?
(A) 1962 (B) 1948
(C) 1920 (D) 1953

JIoMYR s ford ST SIar &7
(A) V0T GERRT &5

(B) et e

(C) aifcT gfte grar &=

(D) TR & ufedr @& ford

I BT YD &H b fba=1 Aaer H Ugadm o7
(A) 2 e (B) 4 e
(C) 8 e (D) 16 VDTS

FfRad H | AR &7 qaq JHAT B
27

(A) == g rad

(B) g0 ¥R g

(OREIERNES

(D) ¥ FH

I g W I T Ahed b FIAR
RIS M & A | frefaRad 7 4 faaat
O A8} BT SITdT?

(A) fa=mar (B) i3 ama
(C) Uz (D) 3rfaaRd <
‘pTlaed’ BT FHTor fhas drrr or?
(A) T AT

(B) & TTIETR

(C) T® &XMfdg

(D) T Td

YRS BT H 3hex BT RIUSHATAR I oT?
(A) g BoIe  (B) vl

(C) 9RTE (D) I
fasp ORI 3idRel b= Pal Rerd 27
(A) fowdaqRe (B) T

(C) exIETE (D) §7Telo
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10.

11.

12.

13.

14.

15.

ELECTRICIAN-

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

9.

10.

BTRg SO-RR o 39T 3ifaH fhde e a9
U BNG—HETH WR el | Fforad # | wsf

IBI 3T IffH e Fa WaAr?
(A) feeet (B) el
(ORENEIE! (D) g%

YR UAaRIB HISSYH & AT Hel
Rera 27

(A) BADBTT
(C) 3 faeent

(B) wifuifer
(D) <&

PART-I ELEMENTARY MATHEMATICS

Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after
3 years ?

(A) Rs. 1380
(C)Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs. 2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIJUA

Choose the correct option in the place of question
mark (?):

18 ? 30
162 | 196 | 150
1458 (1372 | 750

(A) 16
(C) 49

(B) 28
(D) 54
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11.

12.

13.

14.

15.

5200 ®UY Bl FRIFT IR 6 UfArd a1ffie &l %

I ST U7 BT AR 1T fhadr 8R?
(A) 450 T (B) 524 T
(C) 600 TT (D) 624 ST

1200 ®9Y &1 g1 5 Ufcrerd AreRer aifiya
AT B & | A9 au] 918 fha= 81 SREfY?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIFY 5 ufaera &) aiffs aswafy

o <) 9 & aY q7g fdhadr g Sraeh?
(A) 2300 BT (B) 2315.25 0
(C) 2310 B9 (D) 2320 B9

Ifd CANDLE &1 {6l & (#1s) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H @ fofa?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed § -1 $IH -

>[4 T

18 [ 2 ] 30

162 [ 196 | 150

1458 [ 1372 | 750

(A) 16 B) 28
(C) 49 (D) 54
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16. Inapicture on wall Ram showed anold manand 16, IR W o1 U = &1 @ | = gdmam

said “his son is my son’s uncle”. How is the old fb 59 g @fth &1 g3 W RECIRCIEl I
man related to Ram? P J§ A T FEY ©
(A) Father (B) Grandfather (A) foar (B) gfuar
(C) Brother (D) Uncle (C) wTS (D) dren
17. Choose correct option in the place of question 17. e (?) D WM W IRT ey &1 T34
mark (?) PIRT
2 T 10 T 40 2 [ 10 [ 40
7 | 12 | 50 7 | 12 | 50
9 14 60 9 14 60
(A) 3 B) 5 (A)3 B 5
©)8 D)4 ©)8 (D) 4
18. Evaluation of 8*x 82 x 8~ is: 18. 83 x & x8 P EA T :
(A) 1 B) 0 (A) 1 ®) 0
©)8 (D) None of these ©)8 (D) SR H PIg ol
19. Find the HCF of 54, 288,360 : 19. 54,288,360 &I Ha<H FHAMTAND SITd DITA?
(A) 18 (B) 36 (A) 18 (B) 36
(©) 54 (D) 108 (C) 54 (D) 108
20. What will be the LCM of 8, 24,36 and 54 : 20. 8,24,363IR 54T T A THATIA D ST DISTI?
(A) 54 (B) 108 (A) 54 (B) 108
(C) 216 (D) 432 (©)216 (D) 432

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. With which sport Dibeyendu Barua is asociated? 21. éég 3T pT FaY b Wl 9 8?2

(A) Chess (B) Football (A) RS (B) ®cdre
(C) Cricket (D) Shooting (C) forde (D) gfen
Direction : In which answer figure specified components <91 : B9 I IR 31|cg>|?| F FHRT 31|<g)|'?1 & faure
of key figure are found ? aQ o &7
22. KeyFigure: 22, FHAT ?l?‘l
$X 3T N

Answer Figure :
A (A) (& B
® g .
A
& o o
o o
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Direction : In Q. No. 23 and 24 a related pair of words is

23.

24.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 25-28) Choose the correct altenative

given to replace the Question mark (?) :

25. NUMERAL: UEALRMN ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
26. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
27. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM
28. PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
29. Find odd one out :
(A) Excel (B) Mouse
(C) Desktop (D) Key
30. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
ELECTRICIAN-
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fader : ueq G0 23 —24 § vy

23.

24.

T 7 | QU T fadedl § | 99 Siie Bl g
ST dfied ¥ A T Siie ST |ee g9rdr @

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

foder : ueT o 25 —28 oy T [Ahedl # WL Ay

25.

26.

27.

28.

29.

30.

BT T P ST U9 g & 4 o 99 -

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC : FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) IUVM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
NI Bl ST PO
INRGEE (B) #r3¥
(C) S&her (D) &I
R T fadedl & IRITT BT o9 BN -
(A) AT (B) it
(C) TR DEIEE
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PART-I HINDI

3. RS BT A e ﬁ%f%T}:{o 39 ¥ 40 : fA=faRad areat | 59 st
(C) 3t (D) B %

32, UHT @1 e TR (A) UPfT @7 HreF
(A) A1 (B) 3R (B)WEET‘W
(C) uRrg (D) = (C) T &

(D) o3 Ffe =&

33. ‘3 B UGl UK T8l g
(A) 3fquq (B) T 40.

(C) 3 (D) Ut (A) Foorr | A
(B) & ¥

34, ‘BT BT GIRIAT g TE B (C) wrifey firerd &
(A) Ut (B) T (D) P Ffe 7
(C) Sietot (D) &

35. BT @1 "ot | e 7
(A) %ETd & HAE  (B) FEol UK a%K]
(C) 3 28 a%g (D) WA &1 o

36. TR B R BT A B
(A) ARF—4TeT I <1 88 He

(B) & &1
(C) S[3T |ISTH BRI
(D) 30T AT
37. Sl OFFF ¥ 3iET 2 IS oY U g
P 87
(A) R (B) ST
(C) gaRTS (D) TR
38. SN @+ H g &vrar ®° @ folv ud vre
P 87
(A) 3Ty D (B) A-HIE®
(C) fruesft (D) URGIfhdH
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PART-1 ENGLISH

Directions (31-32) : In each of the following questions, a

31.

32.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D) :

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) I brush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
morming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (33 -34) : In each of the following questions,

33.

34.

ELECTRICIAN-

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Latest Sarkari Jobs, Govt Exam Results,
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Directions (35-36) : In the following questions, some parts

35.

36.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
i.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (37-38) : In each of the following questions,

37.

38.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... of'lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (39-40) : From the given alternatives in each

39.

40.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

SET-B
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41.

42.

43.

44,

45.

46.

ELECTRICIAN-

PART-II ELECTRICIAN

The two laws that forms the basis of circuit 41.
analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoft

Maximum speed of a synchronous machine for 50 42,
H :
(A) 1500 r.p.m.
(C) 20000 r.p.m.

(B) 3000 r.p.m.
(D) 3000 r.p.m.
When a conductor is moved inside a uniform 43.
magnetic field :
(A) It experiences a force
(B) Anemfis induced
(C) A current flows through it
(D) A flux is produced
The rotor of squirrel cage induction motor is 44,
skewed because :
(A) It reduces humming thus ensures quite running
(B) Itresults in a smoother torque curves
(C) It reduces the magnetic locking of stator and
rotor
(D) All ofabove

The alternating current system was put into 45,
practical use in :
(A) 1820

(C) 1866

(B) 1880
(D) 1896

A direct current of 1 ampere flowing through a  46.
resistance an alternating circiut current flows through

the resistance, of’heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

e uRUY & SR &1 faveives ead o< H
CREREICEI
(A) BRFS
(C) IR

(B) 3
(D) fh=i

IR TH I Vb RFeRAT 799 & forg
50H, W2 :

(A) 1500 3IRGLTH.  (B) 3000 R UI.TH.
(C) 20000 3R.GIL.TH. (D) 3000 R UT.TH.

T4 TP ATeld FAM adid &5 | Sl & ar
(A) I BT T HaT B

(B) YR &

(C) faga awr 9&<h 2

(D) fagd yare S~ BIdl &

HIIA Dol gl IR0 Hlex foRsT BT &

AP -

(A) TTATES Bl HH HRAT & dlih AT I
el AD

(B) 9 URUM Tl & U |HdA S0 Alg WR

(C) I8 IR & Faaid UHTd AR AT Bl HH
BT &

(D) fau g @

o fagd oRT YoTTell &1 YIRS YT A
H9 AT AT T
(A) 1820
(C) 1866

(B) 1880
(D) 1896

T TRIRR &1 A fIEd oT U UfeRer 4 98
FH AF], ST B A= IR 2| IS fd
fIodia farga aRuer # fegdemT uforty # & q&<dt
g 1 FHE ST BT AT BT &

(A) 3TferHaH IRT YaTe

(B) THTIdd &RT gIRT

(C) 3TId &RT gRT

(D) 374 & BIg &I
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47.

48.

49.

50.

51.

52.

53.

ELECTRICIAN-

The root mean square value of an alternating
quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

The form factor of alternating quanity is given by :
(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

Blinking of fluorescent tube may be due to :
(A) Low circuit voltage

(B) Low ballast rating

(C) Low temperature

(D) Any of the above

The safety fuse should have :

(A) High resistance and high melting point
(B) High resistance and low melting point
(C) Low resistance and high melting point
(D) Low resistance and low melting point

A transformer with output of 250 KVA at 3000 V,
has 600 turns on its primary side and 60 tums on the
secondary winding. What will be the voltage at
primary side :
(A)300V
©30V

(B) 30000 V
(D)3x 10°V

An ordinary tube light used for lighting purpose

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury
vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and
mercury vapour

The eddy current losses in the transformer occurs in
the:

(A) Primarywinding  (B) Core

(C) Secondary winding (D) None of these
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47.

48.

49.

50.

51.

52.

53.

A &1 MU 7 AT a3 &1 a1 B
A R A ST ST ®

(A) dTehIferd |

(B) 3iferdmad A

(C) wHTfad A

(D) 3 A9

w7 @ "ed fafy v @ gRr & S
&

(A) 3 Id 719 / RMSHH

(B) 3iad #11 / *1ferde® #1I9

(C) 3MR.UA.TH A1/ 3iaa A

(B) JIR.UA.UH AT / 3ffeHdH A

U< €49 & YD BT PR & :
(A) BH diecol faegd aRuer

(B) ®H fawplcsd )

(C) T AT

D) §7H & B1g A

gReT ®BgSl BT AT

(A) Sea TRRIISAT IR Ied Tedid
(B) S=a UfCRIIHAT 3R HH Ta-id
(C) B¥ TfeRIE®HdT 3R STd T ih
(D) B URRIIHAT 3R HH T H

TP CNHTHAR RSTF@T SATE 250 KVA 3000V,
dlec IR UTIfie Uge] W 600 IFhR AR fad®d
Ugel & A H 60 TFHR T | URMDH U8 BT
oSl T BN
(A) 300 dce
(C) 30 alee

U%h AERY g9 A8 @ oy ST H T8
ST &

(A) S arfT iR <1feh

(B) U o, URacd AT 3R ARG ary
(C) & A EfT 8IR FRa&) aTe

(D) &1 dq < AT 3R "R are

(B) 30000 dlee
(D) 3 x 10°dTee

STABTHR § TSI BR=<< &1 dal sl o
INEIRIECRCEIN
(C) fewgd yare

(B) i T
(D) s 9§ BIE 7]
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54.

55.

56.

57.

38.

59.

60.

ELECTRICIAN-

The condition for maximum efficiency of the

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the
iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

Copper as conductor for cables is used as :
(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloy with chromium

The segments of the commutator of'a D.C machine
are insulated from each other by :

(A) Rubber (B) Porcelain

(C) Mica (D) Varnish

Which of the following motor has high starting
torque:

(A) d.c. shuntmotor  (B) d.c. series motor

(C) Both (A)and (B) (D) None ofthe above

The number of parallel paths in wave wound
armature are :

(A) Equal to the number of poles of the machine
(B) Equal to two, irrespective of the number of poles
(C) Equal to number of communtator segments
(D) Equal to number of armature conductors

Which of the following motor is used to drive. The
constant speed line shafting, lathes, blowers and
fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None of'the above

In a D.C. machine iron losses occur in :
(B) The pole shoe
(D) The field

(A) The yoke
(C) The armature
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54.

55.

56.

57.

38.

59.

60.

STIBIER &I Fa 31fdh &rar daren RafT 2
(A) AT @1 BN AR T BT BT R &

(B) T& I @l Bl BN aR1&R & dld &l eI &
(C) dfd &I B SRIER & g @ 81 &

(D) 1d @1 B 3T B

fISTell @ ARl H PR ATedd & wY H YANT

fpar ST ® -

INEEECRCIRGE]

(B) Ufers (qmargeifere)

(C) HeIUT Ud AT (ST DI TRH G ST
PR HOR AR AT 1)

(D) AsieaTg Iffe & A1

Rera &1 a8 9rT RS9 fagd Ry @) faem e
& Sl ©, Tb —quR |} Bl

UNRES (B) Urifer

(C) H1gehT (D) af<ier

f=faRad o o9 A Hier § 999 1fdd
SIUICIES

(A) SI¥. ¥ie HIiex  (B) SN AT Al

(C) (A) 3R (B) I (D) 37 & PIs el

UHh TR H FAMIHR Ufdd &1 AT (armature)
3MHER PI gATh 2

(A) 7N & AT BT AT & FAH

(B) 71 \HM gXfded Uil &l & & FHH
(C) BRICSR IR Pl AT & FHM

(D) 3THTR ES &I AT & FHH

U ReR ATl # DI W) Hiex ST H s ST
2 AlcX BT TSI, WRIE AWM, i IR U@r
TA™ H :

(A) ST, e Hiex

(B) .41 SIT AR

(C) wgaw e Arex

(D) S5 | B &

A 7 H AR B 'R S BN &
(A) D (B) 9 |
(C) 3MHTR W D) & )
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61.

62.

63.

64.

65.

66.

ELECTRICIAN-

In a balanced 3-phase, star connected system, the
relation between phase voltage (Vph) and line
voltage (V) is:

(A) V,, =3V,
(B) V,,=0.577 V,

V
©) Vin = TLz
(D) None ofthe above

A 3-Phase load is said to be balanced load, if all
the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None ofthe above

In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite
readings

The stability of arc in vaccume depends upon the :
(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)

The order of the lightning discharge current is :
(A) 10000 amp (B) 100 amp
(C) 1 amp (D) 1 micro amp

Phosphor bronze alloy is used for springs in
indicating instruments because the alloy has :
(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion
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U Hdfeld 3— Bl § IR Faferd I, Bof
dleeSt (V) 3R &g diees (V,) | e 2
(A) V,, =3V,

B) V,=0.577 V,

VL
(C) Vph=3
(D) 374 & BIg &I

TP 3— Tol MR Hdferd IR del ofrar 2 afe

A Wl A 8

(A) ufdEmen (Ife dfdbe 3 fawRia g arn
&)

(B) fIe[d &RT &1 FH=T

(©) (A) 3R (B) <HI

(D) §7H A BIS &I

a diedier gfad ¥ 3—wo wfdd A ot 2

0.5 P.F aTel Hqford ¥R ¥ :

(A) T&h dfcHIer 3 Brear &)

(B) U% dfcHIey Wbd R

(C) ST dfedIext BT aRIeR YT S bl &

(D) HI dfeHier RIeR W fudid greraie
Td®

foafa & amg @) Rerar ¥R &xal 2
(A) DI Fefed AT W

(B) \afrd Al @ik 919 q@ W
(C) Badl fagd uRuy & AUSsS W
(D) (B) 3R (C) T wffsror

Aafed e fagaerT &1 f$earst fhaar siar &
(A) 10000 3R (B) 100 37URAN
(C) 1 JURR (D) 1 HISHTI — INURR

BIEDR STo U1 Gad I3 1 RT & folw gy
H g Sl 8 ifd

(A) BH gfoR

(B) ST ga®d T

(C) ®¥ 3ruferd ufoRwe
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67.

68.

69.

70.

71.

ELECTRICIAN-

Rotor resistance starters are used with wound 67.

rotor induction motor. When the motor is running

the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

While finding solution of AC circuit, vector  68.

quantities are added or subtracted. One of the

method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

Before varnishing a newly wound motor, the 69.

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that
temperature while working

(C) To drive out the moisture in between the wires
and layers

(D) To remove air in between wires and layers for
easy flow of varnish

On inspection, the commutator of a DC generator ~ 70.

was found badly worn out. Sand papering is of no

use. The best thingto doisto:

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

AC changes in value and direction periodically. This ~ 71.

tends to make the current flow along the outer

surface of the conductor. This phenomenon is know

as:

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect
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(B) W2 A I RFuRadd &1 A% HRAT

(C) fequRadi® &1 gaer
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UL BT 99 R 9T 999—a99 ) deoldr 2

I8 ATAD B AR IR fIgd & Yars H§ Hed
BRIl 8 | I8 T PEAN &

INEESEERCEIE]
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(D) =T 991G
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72.

73.

74.

75.

76.

T7.

ELECTRICIAN-

You have to change the defective motor of an
electric locomotive. Which type of motor would you
choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

Which one of the following is not applicable to
capacitor type table fan motor ?

(A) Auxiliary winding

(B) Shadingring

(C) Main winding

(D) Condenser

One of'the reason for charging penalty for drawing

power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less
than the senctioned power

(D) Energy meter will run slow indicating lower
power consumption

The maximum value of sine wave AC voltage is
10V. What is the rms value :

(A) 1.732V (B) 7.070 V
(C)3.142V (D) 1414V

Breather-DC-hydrating material used inside to
prevent moisture entering the transformer is :
(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

Instruments which must not be used in the circuit
when the poweris on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter
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If e fAefdia 919 & e 9aa & | 39
b UBR HI AR BT TIT DR -

(A) ST, 3Tl gdbetT drell Al

(B) STISTT Al

(C) S1:1. 3R AT Aex

(D) T4 SIST AR

=1 & P19 a1 HURTER A9, UwaT anfe @ Aex
& folw SuYgad &l BIam -

(A) GATASR arsfeT

(B) oIS arsfem

(C)ﬂ@zrrg%ﬁ

(D) PSR

f*r=1 PF wR wifdy 9™ B Y9I S B TP

PRI ¥ :

(A) e dleeS IR Mgfay

(B) St fagd vg@ (#9) # 92 &, 98 M
il

(C) ST & YT 1 T3 Afdd wiIpla i
A B BN

(D) ISIT HIeX FHH dledl & 3R HH i
Quq guidar §

Sine TR BT 3AfIHdH A T, dicest 10V 2 |
ms HIF T EﬁTIT :
(A) 1.732V
(C)3.142V

Ne—<I . gesfeT I SBHR & 3y
T B S ABA H ST B AT 8
(A) PTR AT

(B) AIfeT¥ FoIRISS

(C) Aifsan Raferme

(D) faferdr ot

B) 7.070 V
(D) 1.414V

o9 faeggd o7 FRAR 98 R 81 ar faga akue
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(A) 3MEH #HIex 3R AR

(B) ol fA® Hiex 3R Ioll HIex

(C) gy Arex 3iR ferrer uRieror

(D) dfeHIeR 3R I.u®h.Hiex
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78.

79.

80.

81.

82.

ELECTRICIAN-

The motors used for electric clocks and timing 78
devices are :
(A) Self excited single phase synchronous motor
(B) External excited single phase synchronous
motor
(C) Non-excited single phase synchronous motors
(D) Saprately excited single phase synchronous

motor

Potential transformers are used to connect :
(A) Voltmeters to the primary of transformer
(B) Intruments to bus bar of distribution panel
(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

A 10-Volt coil has a resistance of 25€2 . The coil
was re-wound with 0.224 mm dia wire which has
0.45 Q per meter. The length of wire used is S0m.
What is the change in resistance of re-wound coil?
(A)6.5 Q B)4.5 Q
©)25Q (D)9.5 Q

On a overhauling operation it was found that the
motor is equiped with ‘sealed’ bearings. The
bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of one year

You are testing a power capacitor using Ohm meter.
The capacitor is in good condition only when the
pointer moves to :

(A) Zero and then slowly to infinity position

(B) Infinity position and remain there

(C) Zero position and remain there

(D) Infinity position and then to zero position
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83.

84.

85.

86.

87.

88.

89.

90.

ELECTRICIAN-

Sweep of ceilling fan refers to :

(A) Double the distance from center of motor to tip
of blade

(B) The distance from centre of motor to tip of blade

(C) Double the length of blade

(D) Radius of circle formed by its rotation

The resistance of a conductor of diameter ‘d’ and
length “ ¢’ is ‘R’ Ohms. If the diameter of the
conductor is halved and its length is doubled, the
resistance of the conductoris :

(A) R Ohms (B) 2R Ohms

(C) 4R Ohms (D) 8 R Ohms

The resistivity of the conductor depends on the :
(A) Area of conductor

(B) Length of the conductor

(C) Type of material

(D) None of these

The current flowing in a series circuit having four
equal resistors is [ amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?

(A) 0.251
(C)41

(B)I
(D) 8I

A capacitor carries a charge of 0.15 C at 10V. Its
capacitanceis :
(A) 0.015F
(C)1.5uF

(B) 1.5F
(D) None of these

To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium

(C) High (D) That of air

One Farad is equal to :
(A)1Q
(©)1Ccv

B)1V/C
(D) None of these

The unit of resistivity is :
A4) Q
(©) Q/m?

(B) Q/m
(D) Q-m
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(A) FIcR & &g IR < & O ¥ g
(B) AlcR & &g 3R <e & Y | ¢

(C) =TS &1 d1g BT oM
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(A) TTAD B FTHA TR
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(C) Arfl & YR WX

(D) 79 ¥ DIg &l

U TAIRR & IR -6} iR § o gfRger
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2IT:

(A) 0.251
(C) 41

B) I
(D) 81

U FERA & 10V H 0.15 C 379 987 2,
IGPT GTRAT 2

(A) 0.015F (B) 1.5F
(O)1L5uF (D) 578 | BIg el
TR BT Iod A9 YTl B B o b
g1 SaTED Uarel BT AMRY :

(A) 1 (B) #egH

(C) 3= (D) AT & BRI
T BRIS aRER 2

(A) 1Q (B) 1 V/C
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(A) Q (B) Q/m

©) Q/m? (D) Q-m

SET-B

Know More



91.

92.

93.

94.

95.

96.

97.

98.

ELECTRICIAN-

When more than one equipment is to be earthed :
(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)

(D) None of'the above

Fuse is always connected :

(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)

(D) None of the above

The material used for fuse must have :

(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

The Right hand rule for determining the direction
of induced emfenunciated by :

(A) Faraday (B) Loz

(C) Fleming (D) Maxwell

From economy point of view, mostly the wiring
employed in residential building is :

(A) Cleat wiring

(B) Casing-capping wiring

(C) C.T.S. wiring

(D) Conduit wiring

How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

The wattmeter :

(A) Has three connections two of which are used
atatime

(B) Can measure dc power output but not 60 c/s.
a.c power

(C) Has voltage and current coils to measure the
real power

(D) Only measure apparent power
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99. The dynamometer wattmeter can be used to ~ 99. SISHMIEY dIeHIcR Ao & foly STIRT aR

measure : qad T

(A) a.c power (A) THI. YreR

(B) d. ¢ power (B) S UreR

(C) a.c or d¢ power (C) T 3R I3 U1

(D) a.c power in only circuits (D) THI. UTR ®adt 1-¢ |fbe H

100. The controlling torque in an indicating instrument : 100. 3@® I3 7 GF01 BT %

(A) Brings the pointer back to the zero position (A) S I BT Hay BT o Sar & ar gadh
when instrument is disconnected 3 Rerfa H o ST '

(B) Controls the diflection and tries to stop the (B) faerqur fa=or Sa! <ifom Rerfar wr A=
pointer at its final position where diflecting PHIAT © IR FaAD 4 B DI BN BRaT
torque is equal to controlling torque 2 T8l el 9o & Fa5e | fafua smee

(C) Reduces the oscillations of pointer and quickly ol IRIER &
brings the pointer to its final position (C) J&d BT QI HH AR TS Bl © 3R

(D) Both (A) and (B) s &1 3ifcA Rerfr # arar @

(D) (A) 3R (B) <M
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PART-I GENERALAWARENESS / KNOWLEDGE

Who among the following is present Chief Minister
of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

The ‘Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
ELECTRICIAN-
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1.

F=IfeRad H | A IQR &7 aaq sl B
27

(A) B Rig rad

(B) TH0 dNA g

(OREIGRNES

(D) #Y B

I g W B T hed & IR
RIS S & AT H freferiad § 9 fha!
O &} Dl SIedl?

(A) foxra (B) faf3ra ama
(C) UeH (D) 3rfaaRa <9
‘BT’ BT HT fha drrr or?
(A) T AT

(B) % TTIEIGY

(C) T® &¥Mfdg

(D) T PH

YRS BTl H 3heax Bl ﬁwswdu B oT?
(A) 99 BT (B) Azl

(C) 9IRTE (D) TreHa
faspa ARMTS JidRel g Pal Rerd 872
(A) faedage (B) T

(C) TERMETE (D) §Te®

BT SOk o 39T 3ifqy fhdbe e 89
U ENG—HE WR Wl | Frafeiad § & waf

I+ 39T JffeH e {9 Wolr?
(A) faeet (B) ®eTdh<l
(QELREI (D) g=g

IR UAARIBY HISSeE &I AT Hal
Rera &7

(A) Db
(C) 7% faeet

(B) ifuifer
(D) <&

NIRRT T BT RATIAT He gl 2f1?
(A) 1962
(C) 1920

(B) 1948
(D) 1953
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9. Bijapur is known for : 9. dOR fhae foRy ST SITar 27
(A) Severe drought Area (A) {7 GEIRA &
(B) Gol Gumbaz (B) el S
(C) Heavyrainfall Area (C) 31t gfte aretr &=
(D) Statue of Gomateswara (D) THaeeR &1 ufadr & ford
10. Light from the Sun reaches us in nearly : 10. I &1 UHT §H T fha=il afd H ugedm 57
(A) 2 minutes (B) 4 minutes (A) 2 fiFe (B) 4 fiFe
(C) 8 minutes (D) 16 Seconds (C) 8 fime (D) 16 DTS
PART-1 ELEMENTARY MATHEMATICS
11. IfCANDLE is written as EYPBNC, incertaincode ~ 11. If& CANDLE &I fdl & (dl€) # EYPBNC
then in that code FLAMES will be written as : forRgd € A1 FLAMES &1 391 d¢ H & fola?
(A) DJYKCQ (B) HNCOGU (A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHJUA (C) HICKGQ (D) KCHJUA
12.  Choose the correct option in the place of question 12, FeAfI= &I T faded | T SIS -
mark (?): T T3
D 2 3 18 ? 30
13 By 30 162 | 196 | 150
5 TToc 150 1458 [ 1372 | 750
1458 [1372 | 750 (A) 16 (B) 28
(A) 16 (B) 28 (C) 49 (D) 54
(©) 49 (D) 54
13. Inapicture on wall Ram showed anold manand  13. <R WR o U foF & @max W 7 gam
said “his son is my son’s uncle”. How is the old man 5 59 g5 s &1 93 WX Y3 &7 9140 © |'IH
related to Ram? B Jg W T | T
(A) Father (B) Grandfather (A) fuar (B) wfter
(C) Brother (D) Uncle (C) ¥ (D) ==
14. Choose correct option in the place of question  14. T (?) & WM R Ifad fddeq &1 w4
mark (?): DI -
> [ 10 [ 40 > T 0 ] 40
7 [ 12 ] 50 7 | 12 | 50
14 | 60 9 | 14 | 60
(A)3 ®5 (A)3 B) 5
©)38 D)4 ©)8 (D) 4
15. Evaluationof 8 x 82 x 8~ is: 15. $x8x8°PT &A T :
A1 ®)0 (A) 1 B) 0
(C)8 (D) None of these €)8 (D) SRIh H BIg ol
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16.

17.

18.

19.

20.

Find the HCF of 54, 288, 360 :

(A) 18 B) 36
(C) 54 (D) 108

What will be the LCM of 8,24, 36 and 54 :
(A) 54 (B) 108
(C) 216 (D) 432

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C)Rs. 2310 (D) Rs. 2320

Direction : In Q. No. 21 and 22 a related pair of words is

21.

22.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE :ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 23-26) Choose the correct altenative

given to replace the Question mark (?) :

23. NUMERAL:UEALRMN :: ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
ELECTRICIAN-
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16. 54,288,360 T He<H AHUAAH ST BISTA?

(A) 18 (B) 36
(C) 54 (D) 108

17. 8,24,36 3R 54 &1 THTH FHIEID ST DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

18. 5200 ®YY B gRIR WR 6 U ISP &l

I ST g7 BT ARV 1T fhadr 8R?
(A) 450 ST (B) 524 ®TU
(C) 600 TT (D) 624 T

19. 1200 9 & FARIFT 5 Uferd AR a1fid
TS BT TR A9 99T 91 fha=1 8 SIaefY?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

20. 2100 B9 BT G=RIRT 5 Yferd &1 arfie ashdfs
S &R ¥ &1 aY qrg fhd= 81 SR
(A) 2300 ST (B) 2315.25 0
(C) 2310 B9 (D) 2320 B9

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

fcer - U w0 21 —22 # vIeEl &1 Feferd SireT faar
T & | fau T fAweni #§ & 99 SIS @ g
ST dftcd # o T Sie 99T ddy gifar 2

21. ENQUIRE:ASK::
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH wo 23 —26 oA M fawedi § Wl fadey
BT I DI ST Y forrg &1 W= of 9

23. NUMERAL: UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
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24.

25.

26.

27.

28.

29.

BDAC :FHEG:: NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) IuvM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

30.

ELECTRICIAN-

of key figure are found ?

Key Figure:

Answer Figure :

(VAN

24.

25.

26.

27.

28.

29.

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?
(A) KLM]J (B) KLMN
(C) uVvM (D) STUM
PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
3T Eﬁ SITd P I?ﬂﬁ :
(A) TRI (B) ArsH
(C) Swher (D)
I T QApedl # 1T &1 T I -
(A) AT (B) ¥t
(C) TRI (D) sT&ToT
Qg B3 BT A vy Wel 9§ 27
(A) RSt (B) HedTd
(C) fobae (D) zffeT
fAder - oI AT SR ATHIT W FHRT ATHfT & faerse
ac faemm 87
AT 3Tl
SErECICaR]
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PART-I HINDI

31, ‘@HS BT YIRGT I AL T 38. WU’ BT fadm v @
(A) Tt (B) |Iww (A) g (B) BIam
(C) STefst D) T (C) g (D) BT
32, ‘grer &7 Hor 3 aref T 39. ‘UAEM’ BT faaH I &
(A) FETd B HAE  (B) TS U a%] (A) 179 (B) 3R
(C) I 28 d¥g (D) IRATHT Bl <7 (©) ufig (D) T
33 I @ A BT el = 40. wmwﬁaﬁmﬂé’r%
(A) 9RH—¥TaT ¥ <1 g8 we (A) S (B) i
(B) & &1 (C) 314 (D) T
(C) SIBT HIST BRI
(D) 3T AT
34, ST OFF 9 ST 2 IS oY U Ul
P 87
(A) IR (B) ST=Ter
(C) gaRT (D) ¥R
35, I <@d H U9 orar § @ fol U v
P B?
(A) THYH (B) #AIEDH
(C) frueeft (D) URGIfhdH

fdor o 36 @ 37 : fm=faRaa arai & S o9
# 3 & S fafza sifoiw:

36.
(A) BT @1 Areddr
(B) fa &1 74
(C) &l &R ol
(D) ®1g Ffe T

37.
(A) oo | e
(B) Y& A
(C) wnifay forercht &
(D) P1$ Ffe T
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PART-1 ENGLISH

Directions (31 -32) : In each of the following questions,
there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

31.
(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

32.
(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (33-34) : In the following questions, some parts
of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

33. (A) She has not completed
(B) her course
(C) Isn’tis
(D) No error

34. (A) Everycitizenis
(B) Entitled to
(C) Thevoting
(D) No error

Directions (35-36) : In each of the following questions,
sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

35. Sheis......... of lizards :

(A) tearful (B) frightened
(C) afraid (D) terrified
36. The priest was innocent ..............c....... he could not
proveit:
(A) and (B) but
(C) for (D) so
ELECTRICIAN-
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Direction (37-38) : From the given alternatives in each
question, select the word which is opposite in
meaning of the underlined word :

37. Fluent:
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
38. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (39-40) : In each of the following questions, a
part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

39. 1 brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in
the morming

(B) Ibrush my teeth every day at 7 O’clock in the
morming

(C) I'brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

40. Only me I can solve the problem :
(A) Only me can
(B) OnlyIcan
(C) Ican only
(D) No improvement

SET-C
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41.

42.

43.

44,

45.

46.

47.

ELECTRICIAN-

PART-II ELECTRICIAN

A transformer with output of 250 KVA at 3000V,
has 600 turns on its primary side and 60 tums on
the secondary winding. What will be the voltage at
primary side :
(A)300V
©30V

(B) 30000 V
D)3x 10°V

An ordinary tube light used for lighting purpose

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury
vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and
mercury vapour

The eddy current losses in the transformer occurs in
the :

(A) Primarywinding  (B) Core

(C) Secondary winding (D) None of these

The condition for maximum efficiency of the

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the
iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

Copper as conductor for cables is used as :
(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloywith chromium

The segments of the commutator ofa D.C machine
are insulated from each other by :

(A) Rubber (B) Porcelain

(C) Mica (D) Vamish

Which of the following motor has high starting
torque:

(A) d.c. shuntmotor  (B) d.c. series motor

(C) Both (A)and (B) (D) None of the above

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

41.

42.

43.

44,

45.

46.

47.

TP SRABTHR RSTFHT Sare+ 250 KVA 3000 V,
dlec R UIAS U8 H 600 FFh AR TH
UEe] & YA H 60 TFHR | URMS TS B
qrecS T B ¢
(A) 300 diee
(C) 30 dleT

(B) 30000 dTee
(D) 3 x 10°dTee

T ATRY <Jd dlsc @ foly STANT § o8
SIS

(A) T AT iR <1fohd i

(B) U& dq, URacH AT 3R "B areg

(C) Tr ArTfT 3R "R a1

(D) &I I << AT 3R ARN ary

TIIBER § TS BR< B $al Bl &
INEIBIECRGIH] (B) &% W
(C) fewar® yare (D) =T & BIg LN

TIIBIER &1 Fa 31fSd emdr aren Rfd &
(A) T BT BT AR BT BT BT T B

(B) U T Aig I B dRIeR © did &I 811 &
(C) dfd @1 BN SRTSR & olig @ 81 &

(D) dfd &1 B 3 2

faSTell @ ORI H PR ATAD & HI | GART

oo <mar ® -

INESESRSIRGE]

(B) UfIers (qmargeifere)

(C) S UG T (IT] BT TRA G TSI
PRD HOR SR AT 1)

(D) &g Iffe & A1

Rera &1 a8 9T fo99 fagqa amT &1 feen 95a
& STl ®, Yb —guR | ]I Bl g

(A)Ss (B) UTifer

(C) TS (D) af+fer

f=feRag & o9 7 |9er § 999 S1fde
el 9

(A) T3, ¥ HIex  (B) SN FWT A

(C) (A) 3R (B) I (D) 37 | PIg Azl

SET-C

Know More



48.

49.

50.

51.

52.

53.

ELECTRICIAN-

The number of parallel paths in wave wound
armature are :

(A) Equal to the number of poles of the machine
(B) Equal to two, irrespective of the number of poles
(C) Equal to number of communtator segments
(D) Equal to number of armature conductors

Which of the following motor is used to drive. The
constant speed line shafting, lathes, blowers and
fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None ofthe above

In a D.C. machine iron losses occur in :
(A) The yoke (B) The pole shoe
(C) The armature (D) Thefield

In a balanced 3-phase, star connected system, the
relation between phase voltage (Vph) and line

voltage (V) is:
(A) ¥, =37,
B) V,=0.577V,

V
V, =—&=

(C) Ven NG

(D) None ofthe above

A 3-Phase load is said to be balanced load, if all
the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of'the above

In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite
readings

Latest Sarkari Jobs, Govt Exam Results,
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48.

49.

50.

51.

52.

53.

TP R H FHMIHR Ufdd @1 AT (armature)
3R &1 FARH &

(A) 7T & AT BT AT & T

(B) <1 W9 SXfded Ol & AT & qHM
(C) FRICTR WV B T & FAN

(D) 3MTHTR EE & AT & T

T ReR ATl § I AT AIeX ST H s ST
2 AR BT S, WRIE HIH, die- iR g
T ¥ :

(A) ST ¥ AR

(B) 141 $gaT AR

(C) wgad A Hiex

(D) STH | B &I

S, 7 H g @) 81 S B &
(A) AT (B) gd =R
(C) 3MHTR TR (D) & )

TP dfeld 3— Hol H TR Hdfd 99, Bol
areest (V) 3R &g dieed (V) | a2
AV, =3V,

B) V,,=0.577 V,

©) Ve =%
(D) §9 ¥ B 7ol

Th 3— B9l MR Afeld YR dal Sl & Ife

T I B FHA &

(A) faEmer (Ifs dfdbe 3 faria faga arn
2l

(B) fa=ra =T Y AT

(C) (A) 3R (B) &Il

(D) 379 A BIg ol

a1 diedier gfaa § 3—wol wfed Al SRl @

0.5 P.F drel Sqford 9R H

(A) T& dfcHer 3 B &)

(B) U% dfcHIe bl R

(C) THI dfeHIeR] &I aR16R UQT oIl F&hdl &

(D) THI dfcHier RER 1 I uremi®
<d ®
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54.

55.

56.

57.

38.

59.

ELECTRICIAN-

The stability of arc in vaccume depends upon the :
(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)

The order of the lightning discharge current is :
(A) 10000 amp (B) 100 amp
(C) 1amp (D) 1 micro amp

Phosphor bronze alloy is used for springs in
indicating instruments because the alloy has :
(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion

Rotor resistance starters are used with wound
rotor induction motor. When the motor is running
the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

While finding solution of AC circuit, vector
quantities are added or subtracted. One of the
method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

Before varnishing a newly wound motor, the

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that
temperature while working

(C) To drive out the moisture in between the wires
and layers

(D) To remove air in between wires and layers for
easy flow of varnish

Latest Sarkari Jobs, Govt Exam Results,
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54.

55.

56.

57.

38.

59.

fata & amg @) Rerar ¥R &xal 2
(A) Dad Fefrd AR W)

(B) Wafra Al @ik 919 q@ W
(C) dadl fagd uRuyy & AUSsS W
(D) (B) 3R (C) BT |fAsr

afed yare fagfaeT &1 f$eaisl faer g e
(A) 10000 3R (B) 100 37UTAN
(C) 1 MR (D) 1 ATSHI — 3ARR

BIEDR SIol €1 Fadh I § T & foy varT
H g Il B RIS

(A) BH gfoR

(B) ST Ga®rd T
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60.

61.

62.

63.

64.

65.

ELECTRICIAN-

On inspection, the commutator of a DC generator
was found badly worn out. Sand papering is of no
use. The best thingtodoisto :

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

AC changes in value and direction periodically. This
tends to make the current flow along the outer
surface of the conductor. This phenomenon is know
as:

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect

You have to change the defective motor of an
electric locomotive. Which type of motor would you
choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

Which one of the following is not applicable to
capacitor type table fan motor ?

(A) Auxiliary winding

(B) Shadingring

(C) Main winding

(D) Condenser

One of the reason for charging penalty for

drawing power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less
than the senctioned power

(D) Energy meter will run slow indicating lower
power consumption

The maximum value of sine wave AC voltage is
10V. What is the rms value :

(B) 7.070 V

(D) 1414V

(A)1.732V
(C)3.142V
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66.

67.

68.

69.

70.

Breather-DC-hydrating material used inside to 66.

prevent moisture entering the transformer s :

(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

Instruments which must not be used in the circuit ~ 67.

when the poweris on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter

The motors used for electric clocks and timing 68.

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous
motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous
motor

Potential transformers are used to connect : 69.

(A) Voltmeters to the primary of transformer

(B) Intruments to bus bar of distribution panel

(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

A 10-Volt coil has a resistance of 25 Q . The coil 70.
was re-wound with 0.224 mm dia wire which has
0.45 Q per meter. The length of wire used is 50m.

What is the change in resistance of re-wound coil?

(A) 6.5 Q (B) 4.5 O
(C)2.5 Q (D) 9.5 Q
ELECTRICIAN-
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71.

72.

73.

74.

75.

76.

77.

ELECTRICIAN-

On a overhauling operation it was found that the
motor is equiped with ‘sealed’ bearings. The
bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of one year

You are testing a power capacitor using Ohm meter.
The capacitor is in good condition only when the
pointer moves to :

(A) Zero and then slowly to infinity position

(B) Infinity position and remain there

(C) Zero position and remain there

(D) Infinity position and then to zero position

Sweep of ceilling fan refers to :

(A) Double the distance from center of motor to tip
ofblade

(B) The distance from centre of motor to tip of blade

(C) Double the length of blade

(D) Radius of circle formed by its rotation

The resistance of a conductor of diameter ‘d” and
length ¢ ¢’ is ‘R’ Ohms. If the diameter of the
conductor is halved and its length is doubled, the
resistance of the conductor is :

(A) R Ohms (B) 2R Ohms

(C) 4R Ohms (D) 8 R Ohms

The resistivity of the conductor depends on the :
(A) Area of conductor

(B) Length of the conductor

(C) Type of material

(D) None of these

The current flowing in a series circuit having four
equal resistors is | amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?

(A) 0.251
(C) 4l

®)1
(D) 81

A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F
(C)1.5uF

(B) 1.5F
(D) None of these
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78.

79.

80.

81.

82.

&3.

&4.

85.

86.

ELECTRICIAN-

To obtain a high value of capacitance the
permitivity of the dielectric material should be :

(A) Low (B) Medium

(C) High (D) That of air
One Farad is equal to :

A)1Q B) 1V/C

©) 1C/V (D) None of these
The unit of resistivity is :

A) Q B) Q/m

(©) Q/m? (D) Q-m

When more than one equipment is to be earthed :
(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)

(D) None of the above

Fuse is always connected :

(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)

(D) None of'the above

The material used for fuse must have :

(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

The Right hand rule for determining the direction
of induced emf enunciated by :

(A) Faraday (B) Loz

(C) Fleming (D) Maxwell

From economy point of view, mostly the wiring
employed in residential building is :

(A) Cleat wiring

(B) Casing-capping wiring

(C) C.T.S. wiring

(D) Conduit wiring
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87.

88.

89.

90.

91.

92.

93.

ELECTRICIAN-

How many coils are required in a Megger : 87.
(A) One (B) Two

(C) Three (D) Four

The wattmeter :

(A) Has three connections two of which are used at
atime

(B) Can measure dc power output but not 60 c/s.
a.c power

(C) Has voltage and current coils to measure the
real power

(D) Only measure apparent power

88.

The dynamometer wattmeter can be used to  89.
measure :

(A) a.c power

(B) d. c power

(C)a.cordg power

(D) a.c power in only circuits
The controlling torque in an indicating instrument : 90.
(A) Brings the pointer back to the zero position
when instrument is disconnected
(B) Controls the diflection and tries to stop the
pointer at its final position where diflecting
torque is equal to controlling torque
(C) Reduces the oscillations of pointer and quickly
brings the pointer to its final position
(D) Both (A) and (B)

The two laws that forms the basis of circuit 91.
analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoff

Maximum speed of a synchronous machine for 50  92.
H :

(A) 1500 r.p.m.
(C) 20000 r.p.m.

(B) 3000 r.p.m.
(D) 3000 r.p.m.

93.

When a conductor is moved inside a uniform
magnetic field :

(A) Itexperiences a force

(B) Anemfisinduced

(C) A current flows through it

(D) A flux is produced
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94.

95.

96.

97.

98.

99.

ELECTRICIAN-

The rotor of squirrel cage induction motor is 94.
skewed because :
(A) It reduces humming thus ensures quite running
(B) Itresults in a smoother torque curves
(C) It reduces the magnetic locking of stator and
rotor

(D) All of above

The alternating current system was put into  95.
practical usein :
(A) 1820

(C) 1866

(B) 1880
(D) 1896

A direct current of 1 ampere flowing througha  96.
resistance an alternating circiut current flows through

the resistance, of heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

The root mean square value of an alternating 97.
quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

The form factor of alternating quanity is givenby: ~ 98.
(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

Blinking of fluorescent tube may be due to :
(A) Low circuit voltage 99.
(B) Low ballast rating
(C) Low temperature

(D) Any of the above
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100. The safety fuse should have : 100.
(A) High resistance and high melting point
(B) High resistance and low melting point
(C) Low resistance and high melting point
(D) Low resistance and low melting point

ELECTRICIAN-
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15 minutes additional time will be given in the begin-
ning to the candidate for filling up columns of OMR
Answer-Sheet and Question Booklet appropriately. Do
not open the seal of Question Booklet during this ad-
ditional time of 15 minutes.

NG AGEL

(@uar 9 el & eamyde ue Ud Ut o)
. IHEAR BT ITR—AH A’R GT-—gRadT & PieH B

WY & folT uge 15 AFe @ Ry I 9 A
gmm|wmﬁm—gﬁaaﬂzﬁrﬁamw
|

2. Candidate must write his/her Roll Number and OMR | 2. S®iIgaR 31T &A1 AT SIS Ud SAR—UHD HHID
Answer Sheet No. in the space provided on the top left 39 YR8 $ FUR I ORE [AY Y R UR a9 ford |
hand side of this page.

3. Candidate should mark his/her answer only on the An- SHIGIR BT AU SR Hael ITR—YAb W & 3ot
swer-Sheet which is being provided separately. B § S 37T A S W@ B

4. Q. no 31 to 40 (part-I) are in English and . U 9 31 9§ 40 (V1) NG 3!'«'3?:?1 aem fa=i
Hindi. Candidate is to attempt either # ¥ SHIaR oI R a1 3ol § 9 {6t g T
English or Hindi and mention this in the OMR BN BT & T ¥ 3. T AR W el BT Ml IR
sheet (in 31 to 40-part I which language are you S T ¥ (9 W 31 ¥ 40 W — 1§ o
attempting). by darken the bubble. HTST BT IAT PR B 2)

5. It is most important that a candidate fills up details like g IFd HEayyl & fb U SRIGAR STR—ugd H
Name, Roll No., Language, Category, Question Book- fAuiRa M ® o @l fAaver O AW, e 6w,
let Series No, Series Code, Center Name, Center Code, WNT, T, T I FHD, URS BlS, by
Signature at appropriate Columns/Boxes on OMR An- HT AW, DE B PrS, Fel vd gof w9 ¥ ford, vd W
swer Sheet, earmarked for this purpose, fully and cor- 3R AT BXER DY | Ife Bls SRNEIR SuRIEd § 9
rectly. If any of these details are not completed by P fIaRor Pr T8 WRaT ¥ A 9GP IIR—UFD B
the candidate, his /her Answer-Sheet will not be W T8} forar o |
evaluated.
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ELECTRICIAN-

PART-I GENERALAWARENESS / KNOWLEDGE

The ‘Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953

Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara

Light from the Sun reaches us in nearly :
(B) 4 minutes
(D) 16 Seconds

(A) 2 minutes
(C) 8 minutes

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

1.

‘JThTAdRa’ BT f=rafor fhaa wxrar oar?

(A) T e

(B) % TTEIGN

(C) T& &lfdg

(D) T® D

YRS BTl H IhaR BT RIUSHATAR DI 21?7
(A) 3TgeT el (B) Sxwdf

(C) 9FRTE (D) IS

faspa ARMTS SfdRer &g Pal Rerd 87

(A) frodagsa (B) g

(C) TRMETR (D) §TeT®

BT Sol-RR o 37971 3ifqy fhdbe e 89
U ENG—HET WR Wel | fr=aferiad § & waf

I+ 39T JffoH e {9 Wolr?
(A) faeet (B) deTdh<l
(OEEREI (D) g=g

IR UAARIBY HISSeE &I AT Hal

Rera 87

(A) DADT (B) arfuffer

(C) 77 faeed (D) <&
SITIRIS 3 BT RTUAT Hd AT 17
(A) 1962 (B) 1948

(C) 1920 (D) 1953

TR fae ford ST SITar &7
(A) YT GERRAT &=

(B) el e

(C) aifcr gfte gt &=

(D) AR &1 Tfeod T @ ford

I BT b1l 8H I fdba-il rafe H ugedr 27?
A) 2 e B) 4 e
(C) 8 fAse (D) 16 ADTS
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9.

10.

FefaRad | & FYqR &1 aqar qrgwall b
27

(A) B Rig rad

(B) g0 I~ Rz

(ORESGRNES

(D) ¥ B

s RiEerd W 5 T e & AR
MY g & 1A H freforiaa | | feaat
IAUET ol DI S ?
(A) fa=mr

(C) deH

(B) T3 ama
(D) rfdaRa a9

PART-I ELEMENTARY MATHEMATICS

9.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
10. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
11. Inapicture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
12. Choose correct option in the place of question
mark (?):
? 10 40
7 12 50
9 | 14 | 60
(A)3 ®) 5
©)38 (D) 4
13. Evaluationof 83 x 82 x 8 is:
(A)1 ®)0
©) 8 (D) None of these
14. Find the HCF of 54, 288, 360 :
(A) 18 (B) 36
(C) 54 (D) 108
15. What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432
16. Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
ELECTRICIAN-
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11.

12.

13.

14.

15.

16.

IR W & U o B feares M« gaman
% 59 9g =IfRe &1 g R I &7 9 8 ']
B Jg W 9T |qaY T

(A) fuar (B) ufuar

(C) g (D) =ren

U3 () & W R 3fad fAded &1 au+

DITY -

? 10 40

7 12 50

9 14 60
(A)3 B) 5
©) 8 (D) 4

X 8x85HI B B :
(A) 1
(C) 8

B) 0
(D) SRR H PIg A8l

54,288,360 &1 He<H HIYAAD ST HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TYTH FHAIIIID I DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 ®UY Bl FRIFT WR 6 Uferd a1ffie &l v

I I 991 BT AR TS fhd=r grm?
(A) 450 BT
(C) 600 T

(B) 524 T
(D) 624 ST
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17.

18.

19.

20.

Direction : (Q. No. 21-24) Choose the correct altenative

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C) Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs.2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30
162 | 196 150
1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

given to replace the Question mark (?) :

21. NUMERAL:UEALRMN: ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
22. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
23. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
ELECTRICIAN-
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17.

18.

19.

20.

1200 U &1 G=RIRT 5 Uferd |eRer arfie
T D &R | A aut 91 fhae 81 SefT?
(A) 1380 T (B) 1290 ®ud
(C) 1470 9 (D) 1200 I

2100 Y BT G=RIRT 5 Ufrerd &1 a1 =shgis
T &R 9 & a9 918 o+t & SIef?

(A) 2300 ST (B) 2315.25 U

(C) 2310 BT (D) 2320 T

afd CANDLE &! f&l e (@1€) §# EYPBNC
forad € o FLAMES &1 31 & H 1 forem?
(A) DIYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

U @I S fdder | I_1 I -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

foder : ued Wo 21 —24 A I fabedi # Wl fAdhey

21.

22.

23.

BT I DI ST Y9 forrg &1 = of 9

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE : ?

(A) KLMJ (B) KLMN
(C) IuvM (D) STUM

SET-D

Know More



24.

25.

26.

27.

PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

28.

of’key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 29 and 30 a related pair of words is

29.

30.

ELECTRICIAN-

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence: Man (D) Habital : home
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24.

25.

26.

27.

28.

PNLJ:IGLC :: VTIRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
RITA DI STd BT -
(A) Vel (B) Arsd
(C) SE&her (D) &
oy T fAhedl & IRFTT &1 o9 DI -
(A) AT (B) HTet
(C) TRY (D) ST&TIT
<dvg 03T BT e b Wl A &7
(A) TR (B) HedTd
(C) fobabe (D) gffeT
e : o9 A1 SR i H FERAT AT & faere
d faemme 27
AR 3MMHA
IR 3T

fder : U Fo 29 —30 H IgT BT GefT SireT fear

29.

30.

a7 2 | AU T fadent # A 99 Siis @l g
ST dfYed ¥ QT Sis ST Heg ST &

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT : :

(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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PART-I HINDI

31, WY B R BT et 38. '3fer T wARETEl wE T T
(A) IfRp—raT & & gF We GVEERE! (B) 3T
(B) < & (C) 31 (D) wet
(C) S[ST 4TSI NIl _
(D) 3rJoT BT 39. ‘HHA BT TARIET TR TE T
(A) T (B) R
32, S OFFF ¥ 3T B 9 folU U Irea (C) Sferst (D) B
DI &7
(A) R (B) ST=ey 40. ‘81 BT Hel' W 37 ©
(C) geRTSZ (D) ¥R (A) HE-Td B HATS  (B) WES IS a9

(C) 3T 28 a7 (D) THATHT @ <
33. S <@+ # g &vrar ®° @ forv ud vree

HIT—T 87
(A) 3THYDH (B) AAIEDH
(C) fruesft (D) URGIfhdH

fAder w0 34 9 35 : fa=faRaa arait § O ofer
A Ffe 2 S9 fafza s
34.
(A) Ui @1 Aeddr
(B) fsa &1 74
(C) 7I&f & orcll
(D) ®1g Ffe e

35.
(A) oo | fAar
(B) ¥Ew 9
(C) wnifay forercht &
(D) P1$ Ffe T

36. U’ BT fad¥ v @
(A) g (B) BI37
(C) gt (D) BT

37. SUA BT A v 2

(A) |11 (B) 3R
(C) ulrg (D) =

ELECTRICIAN-( SET-D
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



PART-1 ENGLISH

Directions (31-32) : In the following questions, some parts

31.

32.

ofthe sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Everycitizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (33-34) : In each of the following questions,

33.

34.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... oflizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (35-36) : From the given alternatives in each

question, select the word which is opposite in
meaning of the underlined word :

35. Fluent:
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
36. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing
ELECTRICIAN-
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Directions (37-38) : In each of the following questions, a

37.

38.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D) :

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) Ibrush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (39 -40) : In each of the following questions,

39.

40.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous

(D) Simultanious
(A) Fortuneate (B) Fortuneit
(C) Forchunate (D) Fortunate
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41.

42.

43.

44,

45.

46.

ELECTRICIAN-

PART-II ELECTRICIAN

In a balanced 3-phase, star connected system, the ~ 41.

relation between phase voltage (Vph) and line
voltage (V) is:
(A) ¥, =37,
B) V,=0.577V,
14
© V=173
(D) None of'the above

A 3-Phase load is said to be balanced load, if all 42.

the three phase have the same :
(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of the above

In two wattmeter method of 3-phase power  43.

measurement in balanced load having 0.5 P.F

lagging::

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite
readings

The stability of arc in vaccume dependsuponthe:  44.

(A) Contact meterial only

(B) Contact material and vapour pressure
(C) Circuit parameters only

(D) Combination of (B) and (C)

The order of the lightning discharge current is : 45.

(A) 10000 amp
(C) 1amp

(B) 100 amp
(D) 1 micro amp

Phosphor bronze alloy is used for springs in 46.

indicating instruments because the alloy has :
(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion
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U Hdfeld 3— Bl § TR Faferd I, Bo
qleeST (V) 3R o decyt (V) H dee
(&) V,, =37,

(B) V,,=0.577 V,

VL
(©€) Vph=3
(D) 79 A BIg &I

Td 3— Hol IR Adfeld YR HET ordl © afs |l

?ﬁqWWEﬁ

(A) ufcramen (afe dfdhe H o faga grT
&)

(B) fde]d &RT &1 FH=T

(C) (A) 3R (B) &I

(D) 374 ¥ BIg el

]I dfedier gfad # 3—thor oifda At 9t = 0.5
P.F dTcl |gferd WR 4 :

(A) U dfeHier & B

(B) T&% dfcHIer Wd W

(C) T dicHICRT I RTER UGT oIl Adhdl &
(D) &I dfeHTery sRTeR WX fauid urerie

<d ®

fata # @ @ Rerar fR &= &
(A) Dad Fefrd AR W)

(B) Heafdd ArEfT @R arsg <19 W
(C) daet fagld uRuy & AMUGS W
(D) (B) R (C) @T wfdsior

afed vare fagaamT &1 fsw=rs fhdar g &
(A) 10000 3M@RAR  (B) 100 3MURR
(C) 1 3R (D) 1 HATSshI — I[UTIR

HRGR IS 91 Gad I3 1 T & forg wamT
EESIERSINIACI I CE

(A) B9 ufeRE

(B) ST GaBIa T

(C) B9 srufera wfeRre

(D) 318 a9 o & fawR
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47.

48.

49.

50.

51.

ELECTRICIAN-

Rotor resistance starters are used with wound 47.

rotor induction motor. When the motor is running
the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

While finding solution of AC circuit, vector  48.

quantities are added or subtracted. One of the
method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

Before varnishing a newly wound motor, the 49.

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that
temperature while working

(C) To drive out the moisture in between the wires
and layers

(D) To remove air in between wires and layers for
easy flow of varnish

On inspection, the commutator ofa DC generator ~ 50.

was found badly worn out. Sand papering is of no
use. The best thingto doisto :

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

AC changes in value and direction periodically. This ~ 51.

tends to make the current flow along the outer
surface of the conductor. This phenomenon is know
as:

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect
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GHIIGIR 3T YU AIex ¥ 70l TRy e
STRINT # Y S & | 579 Ae} UfoRE 3 Ferdl
g A WeR 8 © :

(A) Gel fazga aRur

B) ®R # Je 9

(C) ¥ife |fdbe

(D) ST A e dTal

T fagd aRuer &1 8eT go | Al 0T Jod
3R Ted © | |ie IO &1 8 bl BT U
GREARE

(A) FHATRR TSI TRIBT

(B) 3ffaer axipr

(O EISMNGEESNE

) EERIGNE

T GHEER HIeR Bl IRAT A ugel argfST &l

TH BRAT AAMMRY | 39 BT I 8

(A) af+er Fadaar | had H AGE oY

(B) I8 gFRed o & & & SR arsfST
qmg & AT SENC ©

(C) ARI IR WRal & 7eg B T [PTed &

(D) af+ie1 & 981d & forg aRT iR wRal ¥ |
gaT 8l ©

g & dRME AL TR BT ferRad®
I T H YT AT | AT BT PIg SYANT 2
2| 3aa fou e sav fafdr &

(A) fReFaRad® &1 TRIE & 7MH R g
(B) W11 3. A fReuRad®d T A% HRAT

(C) RFuRad® &1 g1

(D) TR BT FEeTT

UL BT 79 MR e IHI—999 WR 9eofdl ©

TE FATAD B IR IR [Igd & Yars d B
Il & | I8 q2F el &

(A) HeIdeT gHTg

(B) TSI fagd &IRT 57T

(C) R gvra

(D) =T yHTa
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52.

53.

54.

55.

56.

57.

ELECTRICIAN-

You have to change the defective motor of an ~ 52.

electric locomotive. Which type of motor would you
choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

Which one of the following is not applicable to ~ 53.

capacitor type table fan motor ?
(A) Auxiliary winding

(B) Shadingring

(C) Main winding

(D) Condenser

One of the reason for charging penalty for 54.

drawing power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less
than the senctioned power

(D) Energy meter will run slow indicating lower
power consumption

The maximum value of sine wave AC voltage is 55.

10V. What is the rms value :
(A) 1.732V (B) 7.070 V
(C)3.142V (D) 1414V

Breather-DC-hydrating material used inside to 56.

prevent moisture entering the transformer is :
(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

Instruments which must not be used in the circuit ~ 57.

when the poweris on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter
(C) Frequency meter and tong tester

(D) Wattmeter and PF meter
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Ife ! faeRd 99 @ AeR daa i © | 37T
b UBR HI AR BT TIT B -

(A) ST, el gdbetT drell Al

(B) STISTT Al

(C) ST:1. 3R AIffTd Aex

(D) 141 FIST AR

1 5 @9 |1 HURTER A9, UwET offe & Al
& folw SUgad el BIam

(A) GATASR arsfeT

(B) oIS arsfem

(C)ﬂ@zrrg%ﬁ

(D) PSR

=1 PF &k wifddd 98 8 Y9I €S @1 U

BRI T :

(A) e dleeS IR Mgfay

(B) St fagd vg@ (#9) # 92 &, 98 M
BIf

(C) SUHTERIT & YT 1 T3 Afdd wilpla i
A B BN

(D) ISIT HIeX FHH dledl © 3R HH el
Quq il &

Sine TR T JTfABHTH A T, dicest 10V R |
ms HIA T ET"IT :
(A) 1.732V
(C)3.142V

Ne—<1 . el Il esRIBPHR & iy
T B S ABA H ST B AT &
(A) PTR AT

(B) AIfeT¥ FoIRTSS

(C) IAifsan Raferme

(D) faferdr ot

B) 7.070 V
(D) 1.414V

W19 faggd T FRAR 98 &1 8l Al fagd aRuer |

fpd I3 &1 ISTINT 8! HIAT 1=V -
(A) 3MEH #HIex 3R AR

(B) ol fA® Hiex 3R Ioll HIex
(C) gy Hiex 3iR ferrer uRieror
(D) dfeHIeR 3R UL.u%.Hiex
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58.

59.

60.

61.

62.

ELECTRICIAN-

The motors used for electric clocks and timing

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous
motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous
motor

Potential transformers are used to connect :
(A) Voltmeters to the primary of transformer
(B) Intruments to bus bar of distribution panel
(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

A 10-Volt coil has a resistance of 25 Q. The coil
was re-wound with 0.224 mm dia wire which has
0.45 Q per meter. The length of wire used is S0m.
What is the change in resistance of re-wound coil?
(A)6.5 Q B)4.5 Q
©)25Q (D)9.5 Q

On a overhauling operation it was found that the
motor is equiped with ‘sealed’ bearings. The
bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of one year

You are testing a power capacitor using Ohm meter.
The capacitor is in good condition only when the
pointer moves to :

(A) Zero and then slowly to infinity position

(B) Infinity position and remain there

(C) Zero position and remain there

(D) Infinity position and then to zero position
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60.
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62.

. faeda =< SR w99 SUaRY & forg AR
SUANT P S &
(A) & AR Udhal Bl Ale
(B) 9TERT STINTA Udhel Bl AlCY
(C) IR IARIA Ul ®ol AR
(D) g I el ol HIeR

RerforsT TiA®BIR &7 SUART fHar ST 8, Sire
3

(A) AiecHIeR BT USRI SRIBER & AT

(B) fadRwT 99t &7 ‘99 IR I’

(C) 31 diecsl oS dTel diecHIe]

(D) BH dlecSl TS dlel dlecHIey

TP 10 dlee @ FHSell BT R 25Q 7 |
$HSell DI GIRT 0.224 mm & ATH BT AR A
AT T ST 0.45 Q 9iioHo & 50 o R
B RIS WA B TS | A gAEER HSell B
GfoRIE H dgetta SMU :

(A) 6.5 Q (B) 4.5 Q
()25 Q D) 9.5 Q
Hex & AR Bifei T SiUeH § urar T b

Aex e faafr & wfora 21 feafer &
MaTIHT BT

(A) BE HelF & IfaRTal | dcd STl

(B) T& HEM & ATl # Il ST
(OESEIRUANSEUINCISESIEEI|

(D) T& ATl & IJRT H Il STeaT

MY 3gH Hex & gRT FHIRA I ek BT
NI IR I © | wEiRA st Refa # @it
EdT 54 gadh derdl B

(A) T vd ¥R ¥ 3rd Rerfd d&

(B) 3ia Rerfar @ik 2w

(C) I Rerfar 3R 2w

(D) 3ra Rerfd sk 31 Rerfay aa
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63.

64.

65.

66.

67.

68.

69.

70.

ELECTRICIAN-

Sweep of ceilling fan refers to :

(A) Double the distance from center of motor to tip
ofblade

(B) The distance from centre of motor to tip of blade

(C) Double the length of blade

(D) Radius of circle formed by its rotation

The resistance of a conductor of diameter ‘d” and
length ¢ ¢’ is ‘R’ Ohms. If the diameter of the
conductor is halved and its length is doubled, the
resistance of the conductor is :

(A) ROhms (B) 2R Ohms

(C) 4R Ohms (D) 8 R Ohms

The resistivity of the conductor depends on the :
(A) Area of conductor

(B) Length of the conductor

(C) Type of material

(D) None of these

The current flowing in a series circuit having four
equal resistors is  amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?
(A) 0.251
(C) 4l

B) I
(D) 81

A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F
(C)1.5uF

(B) 1.5F
(D) None of these

To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium

(C) High (D) That of air

One Farad is equal to :
A)1Q
©) 1Ccv

B) 1V/C
(D) None of these

The unit of resistivity is :
(A) Q
©) Q/m?

(B) Q/m
(D) Q-m
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64.

65.

66.

67.

68.

69.

70.

B el U BT TIFhR Fbd DRl o

(A) FIcR & &g IR < & O ¥ AT
(B) AlcR & &g 3R <e & Y ¥ ¢

(C) IS &1 dTS BT IO

(D) SEd TH TR | ga dl Brr a9 ©

U fagd a1t 1 iRy fo=FeT &4 “d’
3R <y’ Farg SR gfeRy ‘R’ 3i1gH © Al &

T 3T BR < Al [Jgd AT BT YfaRer
-

(A) R 3T (B) 2 R 3iT&H

(C) 4R 31gA (D) 8 R 3MTgH

el fagld arard @ UieRIEdaT iR el &
(A) TTAD B FTHA TR

(B) TTId BT <idls R

(C) Arfl & TR WX

(D) 378 ¥ Ig &l

U THIRR & IR )& UfeRer § 2oft gRyer
R fIgd gRT 98 I8 2| A 4 URE
AR SiTed & af fagd aRT &1 aRer 8Rm:
(A) 0.251 B) I

(C) 41 (D) 81

U FERA & 10V H 0.15 C 37d3 9847 ©,
IqB! gfar 2 -
(A) 0.015F
(C)1.5uF

(B) 1.5F
(D) 39 ¥ DIg &I

TR &1 Sed A9 YT B @ oIy @fdbal
BT 3RTaTESd ared BT =12

(A) for=1 (B) 7egH

(C) 3= (D) &1 & HROT
TH B aRIER 2

(A)1Q (B) 1 V/C

(C) 1C/V (D) S ¥ Bl &1

URIerdr &l AP
A) Q (B) Q/m
(C) Q/m? D) Q-m
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71.

72.

73.

74.

75.

76.

77.

78.

ELECTRICIAN-

When more than one equipment is to be earthed :
(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)

(D) None of the above

Fuse is always connected :

(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)

(D) None of'the above

The material used for fuse must have :

(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

The Right hand rule for determining the direction
of induced emf enunciated by :

(A) Faraday (B) Loz

(C) Fleming (D) Maxwell

From economy point of view, mostly the wiring
employed in residential building is :

(A) Cleat wiring

(B) Casing-capping wiring

(C) C.T.S. wiring

(D) Conduit wiring

How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

The wattmeter :

(A) Has three connections two of which are used at
atime

(B) Can measure dc power output but not 60 c/s.
a.c power

(C) Has voltage and current coils to measure the
real power

(D) Only measure apparent power
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T4 U A 3MfAd SUSHROT fagfa gRuer &I gedl
BESISEES

(A) ReR micR Hee SUINT B =AY

(B) Rer sroft ey START S+ A1y

(©) (A) a1 (B)

(D) 37 ¥ BIg el

WS BN ST & ¢
(A)IH 2o § e uRuer JRE 8T 2
(B) SHIaR # 18! uRuey gRferd <&dr ©
(C) (A) a1 (B) &I
(D) 579 A BIS &I

ST AR W @ foly SUART B 2 S9H ¢
(A) BH Tedid 3R HH 3ruferd gfoRre

(B) BH Toi-id 3R 31fdd mfdies ufoRre
(C) 1P T IR HH ufdrd ufaRrer
(D) BH T JTuferd YR & arer

DY JdT8 D ShTg ©
(A) e (B) TRIRIR Taay
(C) Bt (D) =R

URT emf T o 2rad o+ # TV 81T 99 &t
fereriRor et 2
(A) BRI

(C) FeAfHT

(B) oIt
(D) Haade

anfdfer gfte & axe] AFHMI # AfIHdR IR TS
NI

(A) Beile AR

(B) 3TART HfUT AR

(C) ¥ & T AR

(D) UTSTelTg TN

TR ¥ fhal s B &
(A)T® (B) a1
(C) T (D) arR

dfeHlex :

(A) dfeHIeR & 9 Hd9 &, Udh 98I ¥ <l
ST B '

(B) fasTell SUTGH &1 AYaT 7, THL &I 60 cfs
IR &l Bl R

(C) Areet 3R e drell AR arfad i
A9 & forg 8l @

(D) Had el Mo ATId &
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79.

80.

81.

82.

&3.

&4.

ELECTRICIAN-

The dynamometer wattmeter can be used to  79.
measure :

(A) a.c power

(B) d. c power

(C)a.cord¢ power

(D) a.c power in only circuits
The controlling torque in an indicating instrument : 80.
(A) Brings the pointer back to the zero position
when instrument is disconnected
(B) Controls the diflection and tries to stop the
pointer at its final position where diflecting
torque is equal to controlling torque
(C) Reduces the oscillations of pointer and quickly
brings the pointer to its final position
(D) Both (A) and (B)

The two laws that forms the basis of circuit 81.
analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoff

Maximum speed of a synchronous machine for 50 82.
H :

(A) 1500 r.p.m.
(C) 20000 r.p.m.

(B) 3000 r.p.m.
(D) 3000 r.p.m.
When a conductor is moved inside a uniform 83.
magnetic field :
(A) It experiences a force
(B) Anemfis induced
(C) A current flows through it
(D) A flux is produced
The rotor of squirrel cage induction motor is 84.
skewed because :
(A) It reduces humming thus ensures quite running
(B) Itresults in a smoother torque curves
(C) Itreduces the magnetic locking of stator and
rotor
(D) All of above
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SR greHiex HIUH & v SUINT &R
qAHd

(A) T UTdR

(B) SI41. UTaR

(C) T, 3R 14T araR

(D) THI. IR ®Had 1-¢ Aidbe H

Jad IF H e g §

(A) 59 IF BT WY gl a1 Sl & a gad
= Rafd # o S

(B) fagrur fr=ior Swast sifcs Rerfa v fri=or
PRAT & AR FAD 4 BT DI BN Bl
2 <Te! el 9o & frase o faefua smeet
EACHER]

(C) a® T Al B AR A BT © 3R
Jas &1 sife Rerfay # arar @

(D) (A) 3R (B) <M

I uRUY & SR &1 faveived ead a-
3T fow s @
(B) 3TgH

(A) BRFS
(C) TR (D) f=dis

IfTHTH I Ub RFpRAT 7919 & forg
S50H W T :

(A) 1500 3RYLTH.  (B) 3000 JIR.YLYH.
(C) 20000 JIRYLTA. (D) 3000 TR UT.TH.

T4 TP ATeAd FAM FEDHIT &F § Sfar 2 o
(A) I BT AT T B

(B) UR EIer ®

(C) foga o 9&<h ®

(D) fagd yare S~ BIdl &

HIAA Dol goih IR0 HAex foRsT BIaT &

FRNfd

(A) TTATEE B HH BT © Il A A
Tl Ad

(B) 9 URUM Tl & U |HdA 0T Ale W

(C) 98 IR & JadbId Y9Td 31X 30T Bl HH
HRAT ©
(D) faw 7 w1

SET-D

Know More



85.

86.

87.

88.

89.

90.

ELECTRICIAN-

The alternating current system was put into 85
practical use in :
(A) 1820

(C) 1866

(B) 1880
(D) 1896

A direct current of 1 ampere flowing through a
resistance an alternating circiut current flows through
the resistance, ofheat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

The root mean square value of an alternating
quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

The form factor of alternating quanity is given by :
(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

Blinking of fluorescent tube may be due to :
(A) Low circuit voltage

(B) Low ballast rating

(C) Low temperature

(D) Any of the above

The safety fuse should have :

(A) High resistance and high melting point
(B) High resistance and low melting point
(C) Low resistance and high melting point

(D) Low resistance and low melting point
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. Tua I a1 gomel! &1 TARTHS UART
H HY AR T
(A) 1820 (B) 1880
(C) 1866 (D) 1896

TEh TRIR @ el faed ot s ufoRg # 98
G AT, S B IO Hdl 7| Al B
fquia faga uRuer ¥ feg@err ufoRe H |
el € A AN ST T AT B &

(A) 3TfEHTH gRT YaT8

(B) WHTIdd &IRT GI_T

(C) 39 &RT §RT

(D) 574 ¥ BIg &I

T BT AU & ARG 7= &1 a1 &
A R A ST ST §

(A) dTchIfeld |

(B) 3fferaH #1+

(C) wHTiad A

(D) 3 A

. ol A @) vew Ay 9 @ g & S
2
(A) 3i9d A / RMSHH
(B) A #11 / TS ® #1
(C) 3MR.UA.TH A1/ 3iaa A
(B) 3IR.TH.UH A9 / 3f&Had A

giEIe Tgd & YD P PRI © :
(A) B9 dlecl faea aRuer

(B) P fawhlesd )

(C) ¥ A9

(D) & # & @ 1

gReT ®BgSl B AT

(A) S=a UfeRIEHAT iR ST T id
(B) ST UfCRIETHT 3R BH Telich
(C) B UfeRIEDT 3R Sl Telich
(D) BH TfeRIEHT 3R HH Tadi®
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91.

92.

93.

94.

95.

96.

ELECTRICIAN-

A transformer with output 0of 250 KVA at 3000V,  91.

has 600 turns on its primary side and 60 tums on
the secondary winding. What will be the voltage at
primary side :
(A)300V
©30V

(B) 30000 V

D)3x10°V

An ordinary tube light used for lighting purpose 92.

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury
vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and
mercury vapour

The eddy current losses in the transformer occurs ~ 93.

inthe:

(A) Primarywinding  (B) Core

(C) Secondary winding (D) None of these

The condition for maximum efficiency of the  94.

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the
iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

Copper as conductor for cables is used as : 95.

(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloy with chromium

The segments of the commutator ofa D.C machine ~ 96.

are insulated from each other by :
(B) Porcelain
(D) Varnish

(A) Rubber
(C) Mica
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UHh CNHIHAR STHT Idre 250 KVA 3000 V,
dlec IR UAAS U8 H 600 FFhR AR faTD
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SIIBIER &I Fa 31fdh &rar daren RfT 2
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(B) Ufers (arargeifere)
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PRD HOR SR AT 1)
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97.  Which ofthe following motor has high starting torque: ~ 97. FFr=feIRad # &9 A1 AIex 4 T4 Ao®
(A) d.c. shuntmotor  (B) d.c. series motor GﬂTqu ol
(C) Both (A)and (B) (D) None ofthe above (A) 141 Tie Alex  (B) S STl HIeR
(C) (A) 3R (B) T (D) 79 A P &l

98. The number of parallel paths in wave wound 98. U@ TR H HAMIGR Ul &I HEAT (armature)

armature are : TR I ‘rIHTEﬁ g

(A) Equal to the number of poles of the machine (A) = & %‘ﬁf D AT T FHH

(B) Equal to two, irrespective of the number of poles (B) <1 AN IXfdea Ui &1 A& & FqHA
(C) Equal to number of communtator segments (C) FRICTY  WRUT B FEAT & A

(D) Equal to number of armature conductors (D) 3MTHTR EE & AT & T

99. Which of the following motor isused to drive. The ~ 99. U& ReR =Tt H P 1 AIex SUART § 18 ST

constant speed line shafting, lathes, blowers and T Alc} & T, WX 73, gl iR uaEm

fan? el H

(A) d.c. shunt motor (A) 1. e AR

(B) d.c. series motor (B) SI.¥1. %I AR

(C) Comulative compound motor (C) Aga Afre A

(D) None ofthe above (D) T4 A I &l
100. In a D.C. machine iron losses occur in : 100. SI¥L. 79 # &g &1 g I~ Bl &

(A) The yoke (B) The pole shoe (A) TTH (B) g9 W

(C) The armature (D) The field (C) MR W) (D) &3 W
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6. There are 20 pages in this Question-Booklet. | 6. 9 Wea—gRa®T # Gt 20 TS & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, W—gﬁﬂm e IR IS9P EEs) Ry 2 | gfe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR M@l VYO yEH—gRADBT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH ¥ U] B S URET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodl gahd & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. SIRGIR YTA—YRDHT TaH ITR—UAH H Bl A1 3T
tion mark anywhere in the Question- Booklet or in 3 fexarg <A arar At ARre ugam arer @18 fAem
the Answer-Sheet. Any such mark, if found, will be q TN | AT T UPR BT HIg <o U 737 a1 I8
termed as ‘Canvassing’ and paper of such candidate HIRAT" FHI ST 3R U SHIEaR & YW Y§8
will be cancelled. PR fear S |

8. Do not detach any leaf from the Question-Booklet. | 8. U i—gRI®T # F BIS TS 3IRT 9 B | R & g
After the Examination, hand over separately the qof ge—gRAHT 3R ITR—UTB HAY & UIdeTH Bl
entire Question-Booklet and Answer-Sheet to the drer §

Invigilator.

9. For each question, four alternative answers have | 9. U Usd & U IR SR fAdoy Ay v & RFH @
been provided, out of which only one is correct. Baa Uh & e =1 (A), (B), (C), 3k (D) & \ax
Darken the appropriate circle in the Answer-Sheet 2T fahed B Badd It / Bll dfcd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the BT U STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@i% yeq & SR & ©Y § dact U & F81 Adheq
answer. If response is indicated on more than one 2 Ife vk gy & forw v O &1f¥e fabedi ux e
alternatives or the circle has not been darkened SNTRIT 1T & 31T el ] ITR—Y=% H 9dTY Y &I
properly in the Answer-Sheet, as required, it will ¥ Ter (Dark) =&t fpar 7 & O S T SR A4
be treated as invalid answer and no mark will be \_YTTQ‘TT AR 99 SR B v @i si S e
awarded for that answer.

11. No correction in Answer Column is permissible. [ 11. & IR fau ¢ IR # A UHR & GIR I1 HARA
Hence candidate should be very sure about correct Bl AN TRl © | SHONY IHITAR §RT el Bl W1+
answer before darkening the appropriate circle. In ¥ UBd 2 SR gAREd ) form wv | & ue
case of corrections or double marking of circles F IR H IR B IR 3T &I Al P WA R I
against same question, it will be treated as 3T AT STRIAT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 oden wao1 & daigmoey, RBied SRR, AqeR B
Cellular Phone and Pager in the Examination Hall is T YoR BT ST T T I SAPT TANT BT
prohibited. iy

13. Each question carries one mark. There is no | 13. 4% UTT &I Th i & | Toid SN P T BIs 3k
negative marking for any wrong answer. 31 BIET ST |

14. If any discrepancy in the Hindi translated version of | 14. afq &l 907 & uew # &= w191 & o/arg & &3
any question is found, the question given in English Ffe uE SN § 1 oSN AT ¥ femr T ued &
language will be treated as final. = BRI |
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